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=) UPCOMING ONLINE BATCHES

07 DEC 2022

03:00 PM to 05:00 PM

BANK ONLINE LIVE CLASS

10:30 AM to 12:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

December 2022

14 DEC 2022 21 DEC 2022

07:30 PM to 08:30 PM

BANK ONLINE LIVE CLASS

08:00 AM to 10:00 AM

BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

07:30 PM to 09:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL BILINGUAL

14 DEC 2022

06:30 PM to 08:30 PM

BANK ONLINE LIVE CLASS

ENGLISH

28 DEC 2022

05:30 PM to 07:30 PM

BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL

28 DEC 2022

02:00 PM to 04:00 PM

BANK ONLINE LIVE CLASS

BENGALI
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(25+35) ~+ 4x15 - 644=7 = ?

1.128
2.90
3.32
4.98
5.133




A shopkeeper purchases a chair listed at 3000rs. He gets discounts successively as of 40%
and 20% respectively. He incurs a spending of money 40rs on transportation and sold
that chair at a profit of 40%. Calculate the selling price of a chair?

uqo Pl 3000 ¥U A Fllag Ol G & 38 hAA: 40% AR 20% & Fc A &
W 40 IUY &I WA Pl ¢ IR 30 Pl Bl 40% & o W d°dl gl I &
ﬁwmrazﬁrmmzﬁlﬁm?

.Rs. 2072
.Rs. 3072
.Rs. 2052
.Rs. 3042
.Rs. 7042

o B WN =




1518 + 20% ot 45 = 9 x?

1.25
2.35
3.42
4.31
5.38




Study the following information carefully and answer the questions given below:
The pie-chart shows the distribution of total number of phone i.e., Android and 10S
phones in four different showrooms.

The following pie-chart shows the distribution of android phone in four different
showrooms.

fAFfafad STdR & CIaqded JeTTT He AR A U a0 gat & 3% &: uis-ac
IR 3CIIT-3eT9T MEH A Bl bl Pol FE&AT A U2(ES AR INSINTH B & faaor o
Al &1 Aafaf@a ug-aré IR 3re9r-3709T MTH A USIEs B & fAaIor o cATar gl

TOTAL = 5000 ANDROID = 2000

D A D A
(3X +2)% | (2X+6)% 3Y% | 35%
B C

X% (Y+15)%




Total number of android Phones in showrooms A, B and D together is how much
percent more/less than the total number of IOS Phones in showrooms A and B

together?
A A, B 3R D # Android TI- Y et AEAT IEH A 3R B | STSATH B 6hl HeA
Tt | fohaw ufaTe srfereh/an 22
TOTAL = 5000 ANDROID = 2000
D) A A
38% 30% 35% 1.25% more
2.25% less
c 3 c ] 3.20% more
20% 12% 25% 10% 4.20% less
5. NOT




Find the difference between the average number of 10S Phones in showrooms A and
C and the average number of android Phones in the same showrooms?

IER A 3R C H SATSNTH W hi SHTHa ST AR T IEH H UST3S Wi hi STHd d&T
o Sl T 3TaR [T hITa?

TOTAL = 5000 ANDROID = 2000
D A A
38% 30% 35% 1.100
2.120
C B C B 3 80
20% 12% 25% 10% 4.50
5.150




If showroom B sells 50% of its android Phones, and the number of IOS Phones sold and
the number of android Phones sold by the same showroom are in the ratio of 5 : 4, then
find the ratio of number of unsold IOS Phones to the number of unsold android Phones

in showroom B?

Ife AMEH B 37U Android BIT &I 50% 9T &, 3R o 30 FE3INTH BT Hr T&ar 3R 347
AMEA gRT I T Android Il Y TE&IT HT IUA 5 : 4 &, @ AMEHA BH 3AdIes L3NTH

Bl & HEIT 3R IHTdles UZIZS Bid T HEIT BT IJUld ATd HiA?

TOTAL = 5000 ANDROID = 2000

D A A

38% 30% 35% 1.5:4
2.11:4

C B C B 3.9:7

20% 12% 25% 10% 4.7 :5
5.NOT




If the number of 10S Phones sold by showroom D is 50% more than the number of
android Phones in showroom B, then find the number of unsold 10S Phones in showroom

D?
Ife ITET D ERT A= 7T ATSNTH EI hl HEAT IEH B W UST3S W hl T&ITH 50%
37fereR B, a1 INEH D H 3FHIeS ATENTH Wi hl HEAT 7T hIfera?

TOTAL = 5000 ANDROID = 2000
D A A
38% 30% 35% 1.500
2.1000
C B C B 3.800
20% 12% 25% 10% 4.600
5.100




If in showroom D, 40% of the IOS Phones remained unsold and the number of android
Phones sold and the number of unsold android Phones are in the ratio of 2 : 3, then find

the total number of Phones sold by showroom D?

Ife MEA DH, S3NTH B T 40% T [Ib T® -1 3R 9 71T Android B T T&AT
AR faar T Android BT & HEAT &l HJUTd 2 : 3 §, ol MWEHA DERT 9 IV Bl Bl Pl
JEIT AT HifSd?

TOTAL = 5000 ANDROID = 2000

D A A <\ [y WPyl

38% 30% 359, e 1.1000
2. 950

- . c . 3.1050
20% 12% 25% 10% 4.900
5.NOT



22515 + 598 +13 + ?

= 25% of 2500

1.574
2.518
3.564
4.550
5.523




12 men can complete 3/16™ of the work in 9 days while 16 women can complete 7/16™ of
the work in 14 days. Working together, 10 women and 20 men can complete 25/48™ of the

same work in how many days?

12gmw3/16ﬁm9ﬁa”rﬁww Hhd § STdfeh 16 AfGSATT SR BT 7/16dT HIIT
14 H QU A TPl &1 Th ATY HIA Pd §T, 10 Afgelll 3R 20 T2 3T HIA Pl
25/48dT AN Thda it # QU & Hohd &7

1.8.5 days
2.9.2 days
3.9.6 days
4.10.5 days
5.7.5 days




15, 17, 55, 281, ?

1.1967
2.1975
3.1900
4.575
5.876




R borrowed 18000rs from A for 2 years at simple interest of rate 15%. R lent this sum to
C at the same rate for the same time but at compound interest. Find the profit earned by

R in this transaction?

R A ¥ 15% hT TTLURUT ST 2 W 2 T91 <k f7T 18000 TUH 3R {101 R 7 37 vt Y C i @@
THY & 110 AU T I TR Tshlfg, ST WY 3UR T34 36 @19-377 § R §RT AT 9 A1
it

.Rs. 400
.Rs. 405
.Rs. 410
.Rs. 415
.Rs. 450

o B WN =



4, 6, 9, 13.5, 20.25, ?

1.32.75
2.30.375
3.40.5
4.27.225
5.NOT



The speeds of train A and train B is 81 km/h and 90 km/h respectively. When traveling in
the opposite direction they cross each other in 8 seconds. The length of train A is 180

meters then find the length of train B?

ST A AR ST B &Y 7T shaeT: 81 ferwi/ereT 3iiX 90 ferri/eieT 71 faudia ey A e sd e 3 8
HehS H Toh AL ol TR LA 51 ¢ A hl TIaTg 180 WIS & A1 7 B ol wialTg AT hifora?

1. 180 meters
2. 210 meters
3. 250 meters
4. 200 meters
5. NOT




